)

HRRFY2G —sO—nNIVRE:

AR

— EBRARER —

I—ks47—

@D |GsV

@ HEFEXGSV170 « 320 TR EE o

@QuRBITREESER, NESBSERY, B5METECENRER,
W i E M E 2, BE P.1521
%1 GSV170 - 320M L2 F Ma
RNEAZESOCHER,
MR RFIR 2 N FE BT IR V 170 - 32
R, N2SHRMARE, GSV170 - 320 _
/\@
I ©
Ha
S: {7k
GSV 350
GSV 750~1500 GSV 500 GSV 2400~20000
- SO
o
3 = |
Hl O - -
v Ot
F LG R_e =Q
H S 7%
L+025
) = ; ORI EEAT
é Gi_\}zi\,};_:jg MP;(?;/cm) M# & BHFSCM440 @4+ & H8%FSCM440
5 10255 8163 ) BEENE nAL=HEPEFe0) [ [ 600HV~(EM)
7 GSV 500~20000 15(153) BEmAmE S+
A
VA s Ma c Fa#N{kgf} Catalog No. & AR
k| D |Dr|d|L|H|e|R|T|F |G| &8 |J|Q zzq : .
27l MRGE | RAHREFE | Type | MARAH -S| NE | #HE
0.06 44 37 2800 {286} 170— 7
0.06 50 | 40 2800 {286} 170— 10
0.07 60 | 45 2800 (286) 170— 15
0.07 68 49 2800 {286} 170— 19
0.08 80 | 55 1700 2800 (286} 170— 25 | Focig
0.09 106 68 2800 {286} 170— 38
ool 19 | 17 | 1 e 17 1] 6 M6x6 1 M6 731 2800 (286} 170— 50 | FC19
0.12 156 | 93 2800 (286) 170— 63 | FCM19
0.14 185 110 2800 {286} 170— 75
0.15 195 115 2800 {286} 170— 80
0.17 235 135 2800 {286} 170—100
0.19 285 160 2800 {286} 170—125
0.10 44 | 37 4800 {488} 320— 7
0.10 50 40 4900 {500; 320— 10
0.11 60 | 45 5100 (520} 320— 15
0.12 68 | 49 5100 (520} 320— 19
0.13 80 | 55 200 5200 {530} 320— 25 | Foeos
0.15 106 |68 _ | _ _ 5300 {540} 320— 38 _
017] 22| 2| ® a0 ] | ' | © WS i e (326} 5300 (540} 320~ 50 FE(’:\AZ;
0.19 156 | 93 5300 (540} 320— 63
0.22 185 | 110 5300 (540} 320— 75
0.23 196 | 1156 5300 {540} 320— 80
0.26 235 | 135 5300 {540} 320—100
0.30 285 | 160 5300 (540} 320—125
0.16 50 | 40 5900 {602} 350— 10
0.17 56 | 43 5200 (530} 350— 13
0.18 62 | 46 5300 ({540} 350— 16
0.19 68 | 49 5600 {571} 350— 19
0.21 80 | 55 5500 {561} 350— 25 FFC32
0.23 94 | 62 _ 5600 (561} 350— 32
025| 32 | 27 | 16 [106 | 68 |125|105| 6 | 4 |35 M26><6 20 | 2 M6 {3366070) 5600 (561} 350— 38 FFFCCOA;; Ezégi
0.29 130 | 80 5500 {661} | ggy |_350— 50 s
0.33 156 93 5500 {561} 350— 63
0.36 180 | 105 5500 {561} 350— 75
0.38 190 110 5500 {661} 350— 80
0.44 230 | 130 5600 (561} 350—100
0.51 280 | 155 5500 {561} 350—125
024 50 | 40 7200 (734) 500— 10
0.25 56 | 43 7100 {724} 500— 13
0.26 62 | 46 o 7200 {734} 500— 16
0.28 68 49 M6X6 7400 {755} 500— 19 FFC38
0.31 80 | 55 7300 (744) 500— 25 | FFCA3S
0.34 94 | 62 (®20/8) 4700 7200 {734} 500— 32 FT38 FSA38
037 38 | 33 | 20 [106 | 68 |125|105| 6 | 4 |35 or - | 2 M6 7200 {734 500— 38 FSD38
0.42 130 80 2— {479} 7200 {734} 500— 50 FTP38
0.48 156 | 93 M6X6 7200 (734} s00— 63 | FCQ38
0.54 180 | 105 7100 {724} 500— 75 FC38
0.56 190 | 110 (@25F) 7100 {724} 500— 80
0.66 230 | 130 7100 {724} 500—100
0.77 280 155 7100 {724} 500—125
0.36 52 | 42 12100(1234} 750— 10
0.38 58 | 45 12100(1234) 750— 13 FRAS
0.39 64 48 12100{1234} 750— 16
0.41 70 | 51 11700{1193} 750— 19 | FBA45
0.45 82 | 57 11800(1203} 750— 25 EEF;EMB
0.50 9 | 64 - 11800(1203} 750— 32 A
054| 45 | 40 | 25 [ 108 | 70| 165|1.05| 6 4 ap M28><6 20 2 M6 (7745050) 11800{1203} 750— 38 FFCA45 Eggig
0.61 132 82 11800{1203} 750— 50 FT45
070 158 | 95 11800(1203) 750— 63 | FTP45
077 182 | 107 11900(1213} 750— 75 | FcQas
081 192 [ 112 11900(1213) 750— 80 FCas
0.93 232 | 132 11900(1213) 750—100
110 282 | 157 11900(1213) 750—125
OWIETE(E10%) 420 CHME, FAAHABSHETHERE, AHEREM R,

1533 efi#ikgfi=H#HNX0.101972 o FH(N}=I1%ikgf X 9.80665 SMSFNES

kgf/cm’=MPaXx10.1972

MPa=kgf/cm’X 0.0980665

= Ma FEN(kgf Catalog No. &R
%; D|Di|d|L|H|e|R|T|F|a| == J E,_E\D ‘ fkaft ‘ g
27l [ RARH | Type | MIRHAH-—S | E | BB
0.49 58 | 48 3800 {1407, 1000— 10
0.51 64 | 51 3800 {1407] 1000— 13
0.54 70 54 3800 {1407, 1000— 16 | rpgy
0.56 76 57 4000 428 1000— 19 | FpAsQ
0.61 88 | 63 4200 {1448] 1000— 25 | FBBEQ
0.67 102 70 - 4300 458 1000— 32 | FFC50
0.71] 50 | 43 28 [ 114 76 [ 175 2.05| 6 8 5] M28><6 20 M6 9923%0 4500 {1479 1000— 38 | FFCAS0 Egégg
081 138 | 88 (938} 14600 {1489) 1000— 50 | FT50
0.91 164 | 101 14700 {1499 1000— 63 | FTP50
1.05 188 | 113 14700 {1499 1000— 75 | FCQ50
1.09 198 | 118 4800 (1509 1000— so | FC80
1.21 238 | 138 4800 {1509 1000—100
1.41 288 | 163 4800 {1509 1000—125
0.92 70 57 4000 447) 1500— 13
0.96 76 | 60 4700 {2458} 1500— 16
0.99 82 | 63 4200 {2468} 1500— 19 | FB50
1.06 94 | 69 4300 {2478 1500— 25 | FBASO
114 108 | 76 5 15000 3800 {2427 1500— 32 ;E(E:;gg
1.21 120 82 = 3900 {2437, 1500— 38 FSC63
T35 3 | %6 | 6 mamea "0 (2056 | 8 |5 | e |20 M6 {1530} 4000 (2447 1500— 50 | FFoA83 | FDe3
1.51 170 | 107 4100 {2458 1500— 63 | Frpg3
1.65 194 | 119 4200 {2468] 1500— 75 | FCQs3
1.71 204 | 124 4200 {2468 1500— 80 | FCH3
1.94 244 | 144 4300 {2478 1500—100
2.23 294 | 169 4300 {247 1500—125
1.36 77 61 38300 0f 2400— 16
1.40 83 64 38500 {392 2400— 19 | s
1.50 95 | 70 38700 {394 2400— 25 | a5
1.61 109 | 77 38600 {393 2400— 32 | FBR75
1.70 121 83 _ 38400 {391 2400— 38 | FFC75
789 75 | 67 | 45 [1a5| 95|21 [285| 6 | 8 | 5 lesxe 40 M6 (22@107? 39200 {3997 2a00— 50 | FFCATS | FSAT°
2.09 171 | 108 39200 {3997] 2400— 63 | FT75
2.28 195 | 120 39200 {3997] 2400— 75 | FIP75
2.36 205 | 125 39200 (3997 2400— so_| FCQ75
2.67 245 | 145 39300 {4007 2400—100 | FC75
3.07 295 | 170 39300 {4007; 2400—125
2.76 90 | 74 61700 {6292, 4200— 16
2.83 9% | 77 63700 {6496 4200— 19 | fpos
2.98 108 | 83 60800 {6200} 4200— 25 | Fpags
3.16 122 920 64300 {6557 4200— 32 | FBRYS
3.30 134 96 _ 65800 {6710] 4200— 38 FFC95
360] 95 | 87 | 60 [158 [ 108 |24 |2.55(105| 8 | 5 ngm 60 Gi8 :zzzcg; 67000 (6832 a200— 50 | FCAgS | F2A%
3.93 184 | 121 67800 {6914) 4200— 63 FT95
4.20 208 | 133 68000 (6934 | gy [ 4200~ 75 FTP95
4.35 218 | 138 68600 {6995 2200— so | FCQ95
785 258 | 158 69100 (7046 2200—100 | FC
5.47 308 | 183 69600 {7097] 4200—125
5.06 100 | 84 89000 {9075; 6600— 16
517 106 | 87 91000 {9279; 6600— 19 | rgiop
1B £ 93900 (9575 6600— 25 | FRAfoQ
132 | 100 96100 {9799; 6600— 32 |FBB120
144 | 106 _ 98200 {10014] 6600— 38 |FFC120
112 | 75 [768 | 118|255 (255|105 | 8 | & M‘\A:JX13 80 g8 ?667%00(; 100600 {10258 se00— 50 |FrCAI20| F3A1Z0
194 | 131 102400 {10442 6600— 63 | FT120
218 | 143 03400 {10544] 6600— 75 | FTP120
228 | 148 04100 {10615 6600— 80 | FCQ120
268 | 168 05400 (10748 6600100 | FC120
318 | 193 06500 {1086 6600—125
116 | 97 35000 {13766 9500— 19
128 | 103 39000 {14174) 9500— 25 | FB150
142 [ 110 42000 {14480! 9500— 32 |FBA150
154 | 116 23000 {14582 9500— 38 E‘églgg
178 | 128 14— 95400 46000 {14888! 9500— 50 |!! FSA150
142 | 90 204 [ 747 275 | 255|105 8 5 M10X13 100 G1/8 9728) 78000 {15092 9500— 63 | ‘FTWAQSO FSD150
228 | 163 49000 {15194] 9500— 75 | £rprgg
238 | 168 50000 {15296 9500— 80 |frcq150
278 | 178 51000 {15398 9500—100 | FC150
328 | 203 52000 {15500 9500—125
116 | 97 59500 {16261 12000— 19
128 | 103 66100 942 12000— 25 | FB150
142 | 110 72200 {17555, 12000— 32 | FBA150
164 | 116 76300 {17975 12000— 38 ;Eg]gg
178 | 128 14— 117800 82500 {18614 12000— 50 |'! FSA150
142 | 100 SRR 275 | 255|105 8 ) M10X13 100 G1/8 (12012} 87400 (19111 12000= 63 | ‘FTWAQSO FSD150
228 | 153 90800 {19455, 12000— 75 | rypqgg
238 | 168 92000 {19575! 12000— 80 |fon150
278 [ 178 95800 {19962] 12000—100 | FC150
328 | 203 99700 {20301 12000—125
148 | 129 69870 {26465} | 20000— 19
160 | 136 83830 {27834 20000— 25 | pig5
174 | 142 97220 {29147] 20000— 32 | Fpaqgs
186 | 148 . 169100 06810 {30087] 20000— 38 | FRR195
210 | 160 = 322200 (31597 20000— 50 | FFC195
187 | 130 556 17751335 (255 15 | 8 | 8 | \1oxie | 120 L8 {19525)  [334030 {32757, 20000— 63 |FFCA195
260 | 185 334860 {32838 20000— 75 | FT195
270 | 190 347310 {34059 20000— 80 | FC195
370 | 210 358110 {35118 20000—100 |FCQ19%
360 | 235 367940 {36082] 20000—125
MRS E R e E
HEERESEEA0~40°C, BRAFHERMHEEEPBIL0TC,
1
Order Catalog No.
TESES GSV 170-50

sz ) MiSUMi 194,

(https://cn.misumi-ec.com)

m Delivery
R

b |

1534



